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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the
tests :

Please write your Centre Code and Seat No. very clearly (only one digit in
one block). Before writing your Seat No. get it ascertained from the Centre
Conductor. Please see that no block is left unfilled and even zeros appearing

in the Centre Code and Seat No. are correctly transferred to the appropriate
blocks on the booklet and on the answer-sheet.

Example :

CENTRE CODE #zw®aas | M| H

SEATNO. smmiwm® [ 31319116

For all subsequent purposes your Centre Code and Seat No. shall remain
the same. Centre once allotted will not be changed.

All questions carry one mark each.

Since all questions are compulsory do not try to read through the whole question
paper before beginning to answer it.

Begin with the first question and keep on trying one question after another
till you finish.

If you do not know the answer to any question do not spend much time on
it and pass onto the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.

Since the time allotted is very short you should make best use of it. The rough
work is to be done in the box given under each page.

Remember you have to mark on your answers in “Scholastic Aptitude Test”
section of the answer-sheet only.

Answer to each question is to be indicated in the answer-sheet by encircle
by black pen in the appropriate number of alternative in the answer-sheet
from amongst the ones given for the corresponding question in the test booklet.

Do not write anything except Centre Code, Seat No. and rough work anywhere
in this booklet.

Now turn to the next page and start answering the questions.
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SCHOLASTIC APTITUDE TEST

Which of the Billowing inete. dosss’s have 25 4, Find out the incorrect option of pairings from the following figure :

(1)  Venus (2) Saturn '
: ' 0
(3)  Jupiter (4)  Neptune 1
Winter-summer seasons occurred on earth due to :
(1)  Blowing of winds i
(2)  Rotation and revolving of earth -
(3)  Earth’s rotational axis is slightly inclined
(4)  On earth tides are occurred
Find the correct statement observing the following diagram :
'
Q
P
M
(1) Ray PO—Incident Ray (2)  Line OQ—Reflected Ray
. (3) = Line OM—Normal (4)  Point O—Point of Incidence
5. Which of the following is not a law of reflection ?

(1) Incident ray, reflected ray and normal are always in a plane

(2) Normal is perpendicular to reflecting surface

(1) At A the mass of water is greater and pressure is low

(2) At C the mass of water is greater and pressure is low (3) Incident ray and reflected ray are opposite to normal

(3) At A the mass of water is low and pressure is high &

(4) At C mass of water is greater and pressure is high 4 (4)  Angle of incidence and angle of reflection are congruent
SPACE FOR ROUGH WORK ": SPACE FOR ROUGH WORK
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Nhich of the following statements is a false statement regarding

»eriscope 7

1)  Reflection takes place two times in periscope.

2)  Spherical mirrors are used in periscope.

3)  Two plane mirrors are used in periscope.

4)  Mirrors are parallel with each other.

mage formed due to plane mirror is ..........

1)  appeared to form behind mirror at equidistance to object
2)  formed behind mirror at equidistance to object

3)  towards object at equidistance to object

4)  towards object seen enlarged than object

"rom one kilogram wood combustion about .......... kilo joule energy is obtained.
1) 1600 (2) 1700
3) 1800 (4 1900

SPACE FOR ROUGH WORK

9. Atomic power station is also situated at ..........

(1) Tarapur

(3)  Kakrapar

(2) Washi

(4) Bharatpur

in Surat district.

10.  Select the correct option of pairing between source of energy and process taking

place, given below :

Column ‘A’

(Source of Energy)

(@) Mineral oil

Column ‘B’

(Process)

(£) Nuclear fission

(b)  Solar energy (ii) Chemical oxidation

(¢)  Solar cell (i) Nuclear fusion

(d) Atomic energy (iv) Conversion of solar energy to

chemical energy

(1) (@)=(i) (b)—(idi) (e)—(ii) {d)—(iv)

(2)  (a)—Gi) (b)—(iv) (e)—G) (d)—(ii)

3  (a)—(v) (b)—(gi) (e)—(ii) ()} =(i)

(4) (a)—(i) (&) —(idi) le)=(iv) ()} =(i)

S-MS-SAT | VIII| S15| | 44 of 80
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dentify the components of electric circuit and choose the correct option from
he following :

I1I+
©,

@‘

L) 1—Resistance 2—Key 3—Bulb 4—Cell
) 1—Key 2—Bulb 3—Resistance 4—Cell
i 1—Cell 2—Resistance 3—Key 4—Bulb
£) 1—Cell 2—Bulb 3—Resistance 4—Key

fith respect to button cell which one of the following pair is incorrect ?
) Iron phosphate—Negative terminal

) Carbon—Positive terminal

) Salt of Lithium—Electrolyte

) Potassium hydroxide—Electrolyte

SFES

SPACE FOR ROUGH WORK
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13.

14.

15.

To uplift magnetic substance which one of the following magnets is effective ?

(1)  Horse-shoe magnet (2)  Disc magnet

(3) Needle magnet (4)

() (b)

Which is the correct diagram for oxygen atom ?

Bar magnet

(e) (d)

1 a 2) b
@ ¢ 4) d
Element which does not show any neutron in atom is :
(1) Helium (2)

Hydrogen

(3) Oxygen (4) Carbon

SPACE FOR ROUGH WORK
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\n atom of element whose atomic number and atomic mass number are 11

and 23 respectively. How many number of neutrons are present in an

atom ?
1) 11 (2). 23
3) 12 (4) 10

Which type of the reaction is this ?

2Na + 2H,0 — 2NaOH + H, + Heat energy

(1) Endothermic (2)  Exothermic
(8)  Displacement (4) Redox

Which of the following is not an oxidation reaction ?
(1) 2Mg + Oy — 2Mg0

(2) C + Dﬂ_ i GDE

SPACE FOR ROUGH WORK

VIS-MS-SAT | VIII| S15] | 48 of 80

19. Which of the following substances undergo sublimation process ?

(i) Iodine (@) Wax

(iic) Camphor (iv) Naphthalene ball
(1) - (@), G, () (2) (), (@), Gw)

(3) (@), (i), o) (4)  (ad), (i), (w)

20. Which of the following processes requires energy 7

(£) Fusion (iz) Condensation
(iif) Vaporisation (iv)  Solidification
(1) (i) and (i) (2) (i) and (Fi)

(3) (i) and (i) (4) (i) and (iv)

21. Which of the following non-metals is used as an electrode in Electro-chemical

cell ?
(1) Wood (2)  Ebonite
(3)  Graphite (4)  Plastic

' SPACE FOR ROUGH WORK
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Thich of the following metals is not affected by air, water, acid, heat

te. ?
L) Silver (2) Platinum
i) Nickel (4) Sodium

he % of carbon in Bituminous coal is :

L 11% (2) . 60%

3 80% (4) 22%

n lubrication, the following substance is used :

1)  Graphite (2) Diamund_

3) Gold (4) Silver

SPACE FOR ROUGH WORK
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Oxygen is prepared from potassium chlorate, it is collected by .......... of water.
(1) Upward displacement (2) Downward displacement
(3) Both (1) and (2) (4) None of these

The freezing point of carbon dioxide is :

(1) -97°C (2) -87°F
3y -57°F (4) -57°C
Farmers began to use .......... method that yielded bigger harvest due to which

biodiversity of the plants is endangered.

(1) Mixed crop (2) Single crop

(3)  Double crop (4) Multi-crop

SPACE FOR ROUGH WORK
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Which of the following characteristics is not found in local species ?
(1)  Resistance to disease

(2) High yield

(3)  Survival in adverse condition

(4)  Shorter life cycle

How many chromosomes are there in the nucleus of human cell ?
(1) 46 - (2) 64

3) 48 (4) 42

Which bacteria produce a poisonous substance called enterotoxin as it grows

on foodstuffs 7
(1) Clostridium (2) Rhizobium
(3)  Staphyllococcus : (4)  Azotobacter

SPACE FOR ROUGH WORK

VMIS-MS-SAT | VIII| S15| | 52 of 80

31.‘

With the help of electron microscope, an object can be magnified .......... times.
(1) Two hundred (2) ‘Two thousand

(3) Two lakh (4) Two billion

In......... disease patients lose their ability to fight disease so they contract

diseases frequently.

(1) AIDS (2) Jaundice

(8)  Tuberculosis (4)  Cholera

Which pathngf:'nic bacterium was discovered by Robert Koch ?
(1) Typhoid (2) Cholera

(3)  Chickenpox (4)  Tuberculosis

SPACE FOR ROUGH WORK
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The period between the entry of virus or bacteria and the appearance of

27. ... are sown by poking them into the soil one by one.
symptoms is called ............
(1) Jowar (2)  Pumpkin
(1) Incubation peried (2) Bacterial period
(3)  Viral period (4) Long period : (3) Bajara (4)  Wheat

: : - el : 9
Which eoloured articles are made by using copper oxide in a China clay ? 38. Name the plant on which lac yielding insects grow 9

(1)  Red (2) Yellow :
i (1)  Mulberry (2) Mango

(3) Blue : (4) Green

(3) Palas (flame of forest) (4) Guava
Identify odd man out : .
(1)  Jowar, Bajara, Ragi 39, Pearls are obtained from :
{2) Moong (green gram), Udad (black gram), Masoor (lentils) () Dyater L
(3) Serpentina, Mange, Asparagus

(3) Muddushi (Shellfish) {4) Lobster
(4) Sesame (til), Sunflower, Linseed (javas)

SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
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Animals need dry feed equal to ............. % of their own body weight daily.
11 11015 (2) 2to25
3) 3 to 35 (4) 4 to 4.5

(n 1937 provincial elections, the Indian National Congress came to power

in how many provinces 7
1)  Eight (2) Eleven
3) Seven (4)  Three

After Peshwa Bajirao II entered into the Subsidiary Alliance treaty it led

to which of the following incidences ?

1)  British got the permission to collect tax

2) The salary of Peshwa Bajirao II was stopped
3)  The second Anglo-Maratha war started

‘4)  Marathas accepted the dominance of the British

life ?
(1) England (2) Italy
(3) France (4) Portugal

Arrange the following incidences in chronological order :

(I) Mill workers' union in Mumbai went on a strike
(II) Foundation of Bahishkrit Hitkarini Sabha
(III) Foundation of All India Women’s Conference

(IV) Establishment of the Communist Party

(1) (), (III), (ID), (IV) (2) (1), (ID), (IV), (1)

(3) (IV), (D, (I, (III) © (4) - (ID, (V) (III), (D

43. In 13th century, which country was the centre of changes in all fields of human

SPACE FOR ROUGH WORK
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Fhe person in the photograph is related to which one of the following

incidences 7

1)  Establishment of Indian Independence League
2) Foundation of Free India Centre

3)  Foundation of Forward Bloc

4)  Establishment of Azad Hind Sena

Lokmanya Tilak criticized which Act saying that ‘it was neither Swaraj nor

its foundation® ?
1)  Morley-Minto Reform Act (2)  1892s Reform Act

'3)  Rowlatt Act (4)  Montagu-Chelmsford Act

SPACE FOR ROUGH WORK
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47. Poorna Swaraj—Complete Independence was demanded by which leader ?
(1)  Pandit Motilal Nehru (2) Subhash Chandra Bose
(3)  Chittaranjan Das (4) Dr. Satyapal

48, “There is only one God’ is belief of :
(1) Satya Shodhak Samaj (2) Prarthana Samaj
(3) Brahmo Samaj (4) Arya Samaj

49, Which Maratha sardar crossed the Narmada river and penetrated into Malwa
region ?
(1)  Khanderao Dabhade (2) Nemaji Shinde
(3) Khando Ballal (4)  Rupaji Bhosale

SPACE FUR ROUGH WORK
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Match the following :

)

iz)

(i)

(iv)

(1)

(2)

(3)

(4)

Ancient cultural heritage

aroused

Western Education

Nineteenth Century

Renaissance

Facility of communication

and transport
(£—D) (#i)}—C)
(@} —B) (f)—A)
(B—A) ()} —(B)
(i—C) (@)—D)

Sowed the seeds of national

(A)
unity in India
(B) Development of national feeling
among them
(C) Gave modern outlock to the
national sentiments of the Indian
(D) The feeling of national pride
among the Indians
(i} —A) (iv)—B)
(#i}—(C) (iv)}—(D)
(i) —(D) (E)}—C)
(i) —(B) o liw—A)

SPACE FOR ROUGH WORK
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51. Name the incorrect pair of the following :

(1) Abhinav Bharat —_ V.D. Savarkar

(2)  Anusheelan Samiti - Madanlal Dhingra
(3) Gadar — Lala Hardayal
(4) India House — Pandit Shyamji Krishna Verma

52. Who wrote ‘Ramayan’ in Tamil Language ?
(1) Mukundraj (2) Pampa

(3) Kamban (4) Jayadev

53. In which place in Maharashtra Jungle Satyagraha did not take

place 7
(1) Chirner (2) Pusad
(3) Kalavan (4) Shiroda
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hich thought is put forth through the book ‘Social Contract’ ?

y  Theory of separation of the powers

)  Equality amongst humans

) Man is born free

)  No limits to man’s intellectual capacity

1 1853 which incident did not occur ?

) Establishment of Mumbai-Madras-Kolkata Universities

1) Started first textile mill in Mumbai

3 First frain started between Mumbai-Thane

4)  Started telegraph system in India

SPACE FOR ROUGH WORK
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Identify the wrong pair :

Group ‘A’ Group ‘B’
(A) Egypt —  Cairo
(B) Tanzania —  Dodoma
(C) Brazil —  Brazilia
(D) South Africa —  Johannesburg
(1) (A) (2) (B)
3 (©) (4) (@D

River joining five great lakes and the Atlantic Ocean is :

(1)  Mississippi (2) St. Lawrence

(3) Colorado (4) Missouri

SPACE FOR ROUGH WORK
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1e Mediterranean Sea and the Red Sea are connected by which canal ?
) Suez (2) Panama
) Keil (4)  Mitland

atch the following pairs and select the correct answer from the options given

slow :

Group ‘A’ ' Group ‘B’
) Block mountain {A) Kilimanjaro
H, Fold mountain (B) Meghalaya plateau
)  Central type volcano (C) Maharashtra plateau
) Fissure type volcano . (D) Aravali mountain
Iptions :

I (1)—A), (2HC), 3)—D), (4B)
) (D), (2)—HA), (3 —B), (4)—D)
3} (1)—D), (2¥—B), (3C), (4)-A)

1) (1)—B), (2—D), (3 —A), (4HC)

SPACE FOR ROUGH WORK
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60. Which temperate grassland is shown in the following figure ?

(1)  Prairie
(2) Pampas
(3)  Steppes
(4) Veld
SPACE FOR ROUGH WORK
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1 the year 1959 how many nations signed the ‘Antarctic Treaty’ ?

) 12 2y 13

n 14 (4) 15

he average density of the earth is ................ gm.l’cm3.
1) 27 to 30 (2) 3.0 to 5.5
3 13 (4) 5.5

"he first Indian rocket was launched from which station ?
1) Sriharikota (2) Hassan

3) = Thumba (4)  Thiruvanantapuram

SPACE FOR ROUGH WORK

64. Find the wrong pair :

‘Al ‘B’ g
(A) Rome River Tiber Largest University of Italy
I[B} Turin River Po Famous for production of motor
Ccars
(C) Milan Olona river Leonardo da Vinci Museum
(D) Naples Reno river Vesuvius volcano
1) (A) 2y (B)
3 (C) 4) (D)

65. Accident prone occupation is :

(1)  Agriculture (2) Mining

(3)  Fishing (4) Animal Husbandry

[S-MS-SAT | VIII} S15 66 of 80
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Which continent is spread in all meridians of longitude ?

(1)  Antarctica (2)  Australia

(3) Africa (4) South America

Alphabet ‘B’ represents the following feature :

Direction of movement

(1) Fault (2) Rift valley

(3)  Block mountain (4) Fold mountain

SPACE FOR ROUGH WORK
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68. Choose the wrong pair :

(1)
(2)
(3)
(4)

Sea Cliff —  Bhagavati Port
Wave cut platform —  Kanhur Plateau
Lagoon —  Chilka lake
Beach —  Mariana

69. The species found on Antarctica continent which is similar to pronz is :

(1)
(3)

Squid (2)  Wingless midi

Krill - (4) Walrus

70. Find the correct option :

(a)
(b)
(e)
(d)
(1)
(3)

Country Highest Peak Height
(in mt.)
Germany (A) Gran Paradiso (P) 4897
Australia (B) Zugspitze Q) 4061
Italy (C) Kosciuszko (R) 2963
Antarctica (D) Vinson Massif (S) 2228
(a}—B}—R) (2) (B)HAM(S)
(e} —D—P) 4) (d—HCrQ)
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he UN lays a special emphasis on reselving conflicts among nations. Find

he incorrect one from the following :

l)  negotiations (2}  peace-keeping forces

b mediation (4) goodwill

'he progress in technology has given an important advantage to the ..........

ector.
1)  Electronics (2)  Political
3) Social (4)  Health

Vhich organ of the United Nations does not have its headquarters in New

Tork 7
1)  General Assembly (2) Security Council

3) International Court of Justice (4) Secrﬁtaria‘t

SPACE FOR ROUGH WORK
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74. ‘Sarve Bhavantu Sukhinah’ is the emblem of :
(1) National Human Rights
(2) UNESCO
(3)  World Health Organization
(4)  Food and Agriculture Organization
75. The country that carries on its work independently is called as ..........
(1)  Developed (2)  Responsible
(3) Sovereign (4)  Powerful
76. After the Second World War which nation emerged as a super power 7
(1) England (2) France
(3)  Soviet Union | (4}  China
SPACE FOR ROUGH WORK
NMMS-MS-SAT | VIII} S15 71 of 80 P.T.O.




he Bombay High Court does not have its bench at ..........

[)  Aurangabad (2) " Pune

3) Nagpur (4) Panaji

'he Army does not consist of ............

1) Submarine (2)  Artillery

3) Armoured Corps (4) Infantry ’

he non-permanent member countries are elected in Security Council after

3 period of ............. years.
1) Three (2) Two
3) ~ Five (4) Six

SPACE FOR ROUGH WORK
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80. Which traditional knowledge of India is spreading all over the world ?

81.

(1) Entertainment (2)  Increase in quality of life
(3) Yoga and Ayurveda (4) Improvement in health services

The total population of a city in the year 2012 was 1,40,000. Every year the
population increases by 10%. How much increase in the total population will

be there in the year 2015 ?
(1) 46340 (2) 46240
(3) 46140 (4) 45140

If 22 — y2 = 63 and x + y = 7, find the value of x — y.

(1 Js3 (2) .Je4
@ Jig 4) JB1
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find the walue of (144)°3 = (16)"® =

1) 9 (2) 3

3 8 o) 4

T m=+02 xJ0.032, then find the value of m.

1) 80 (2) 0.08

3) 0.80 (4) 0.008

A circular plot having diameter 42 m is to be fenced with 5 rounds by a wire.

Find the cost of fencing the plot if the wire costs ¥ 80 per meter.
(1) T 26,400 2y ¥ 10,560

(3) ¥ 52,800 4) T 13,200

SPACE FOR ROUGH WORK
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21 ¢m segment is divided in the ratio 2 : 3. Find the length of the bigger

part.
(1) 21 cm (2) 12.6 cm
(3) 14 cm (4) 84 cm

In the [JPQRS, m<P = x°, m£Q = 2x°, m£R = 3x° and m/8 = 4x°, then find
the type of ] PQRS ?

(1) Trapezium (2)  Parallelogram

(3) Rectangle (4)  Cyeclic

A chord AB of a circle having centre ‘0’ is at a distance of 8 cm from the
centre. If AB = 30 ¢m, find the perimeter of A AQOB.
49 cm

(1) 47 em (2)

(3) 64 em 4) 80 cm

SPACE FOR ROUGH WORK
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(he average of five consecutive numbers that are in the multiples of five is

35. Find the largest number from the five consecutive numbers.
1) 5§ (2) 60
3) 65 (4) 70

v cylindrical pot having 20 cm radius and 90 em height is filled completely

vith ice-cream. If the ice-cream is to be filled in cones, then how many cones

-

7ll be required if radius of each cone is 3 em and height 10 cm ?
L) 400 (2) 800

i 1000 (4) 1200

ind the value of (@ +b)? — (@ - b)® =

Yo gt apt (2) g4°

) 26° - 6ah 4)  25° + 6a®b
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Divide and write the quotient and the remainder for the given example :
2y +TY + Ty +2+ 2y + 1

(1) ¥ +3y+21 2) »y+3y+22

3) ¥ +3y+1;2 4 Y +3y+2:0

If 0.375=2, then find the value of g S ke Ballpiing.
g

375 R = 1]
(D 2} Joooo
8 3
® 3 @ 3

Find the area of an equilateral triangle whose side is ‘m’ and ‘S’ is the

semiperimeter 7

(1) ?s‘* (2) gsz
"III'g 2 _4.. m‘i
@) oEot o
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PO -2
I %:_El=_3, find the value of _ .
m 0 @ 1
; 5
(3) (4) -

The measurement of the minor arc is 100°. Find the measurement of the angle

which is vertically opposite to the central angle made by the minor are.

(1)  200° (2) 10° .

(3)  260° (4) 80°

A shopkeeper sold an article for T 414 after giving a discount of 8%. Find

the marked price of the article ?

(1) T 650 (2) T 450

(3) % 550 4) T 600

SPACE FOR ROUGH WORK

98. Find the difference in the degrees of the following expressions 13x* - 28x — 28

and 6 — 5x + x*.

n o0 (2) 2

@3 1 (4)

-.._]

99. Find the value of ‘¢’ from the following table :

a 11 x 15 22

b | 60

&
&
8

(1) 14 (2) 13

(3) 12 (4) 125

: ! (x*+1)  (x-1)
100. Find the value of x — 1) A T

-rz ~x+1

i s @ i
£ +x-1 x> —x+1

A e W0 oo
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